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Use a calculator to approximate each to the nearest thousandth.
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Evaluate each logarithm.
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Solve each equation.
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Rewrite each equation in exponential form.
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Rewrite each equation in logarithmic form.
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19) If you invest $5{}()(Tanﬁlnp(-)undecl continuously at a rate of 4.8%, how much will you have at the end
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20) You invest $1000 at 15% APR for 30 years. How much money do you have?

21) A certain bacteria doubles every 20 minutes. The bacteria starts with 25 cells.
How many cells are present after 3 hours?
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22) A car depreciates at a rate of 25%. The car was purchased for $22,000.
How much is the car worth after 11 years?
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23) You invest $1200 at 9.2% ¢ompounded monthly. How much money do you have after 32 years?
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